# NUMEROUS EXACT SOLUTIONS OF NONLINEAR PARTIAL DIFFERENTIAL EQUATIONS BY TAN-COT METHOD 

By<br>${ }^{1}$ Md. Alamin Khan, ${ }^{2}$ Abu Hashan Md. Mashud, ${ }^{3}$ M. A. Halim<br>${ }^{1}$ Department of Mathematics, Jahangirnagar University, Savar, Dhaka-1342, Bangladesh<br>${ }^{2}$ Department of Mathematics, Hajee Mohammad Danesh Science and<br>Technology University, Dinajpur-5200, Bangladesh<br>${ }^{3}$ Dept. of GED Daffodil International University, Bangladesh

https://doi.org/10.26782/jmcms.2017.01.00004


#### Abstract

This theoretical investigation is made in order to get the new exact solitary wave solutions of nonlinear partial differential equations (PDEs). The well-known Tan-Cot Function method is employed to obtain the exact solutions of Joseph-Egri equation (TRLW), Sharma-Tasso-Olver equation (STO), mKdV (modified Korteweg-de Vries) equation with additional first order dispersion term, and KdV (Korteweg-de Vries) equation with additional fifth order dispersion term,. The results which have been found in this theoretical work could be applicable to understand the characteristics and elastic behavior of nonlinear structures including solitons as well as play an important role in wide range of physical applications.


Keywords : Nonlinear PDEs, Exact solutions, Tan-Cot function method, Joseph-Egri equation, Sharma-Tasso-Olver equation, mKdV equation with additional first order dispersion term, KdV equation with additional fifth order dispersion term, soliton solutions.

## I. Introduction

Nonlinear partial differential equations (PDEs) play significant role in the study of a wide variety of scientific applications such as plasma physics, solid state physics and fluid dynamics [1,2,3]. Recently, it has become a more attractive topic to find out the exact solutions of nonlinear PDEs directly.
Considering lots of applications of Joseph-Egri equation (TRLW), Sharma-TassoOlver equation (STO), modified Korteweg-de Vries ( $\mathrm{mKdV} \mathrm{)} \mathrm{equation} \mathrm{with} \mathrm{additional}$ first order dispersion term, and Korteweg-de Vries (KdV) equation with additional fifth order dispersion term in contemporary problems, several authors have got inspiration and attained the exact soliton solutions of these equations. The term
soliton, from the observation that waves like particles retained their shapes and velocities after interactions, was first introduced by Zabusky and Kruskal [4]. In 1834 John Scott Russel [3], a naval architect, published the first observation about a solitary wave and explored his experiences to the British Association. By seeking more exact solutions is a superior way to comprehend the nonlinear phenomena of the aforementioned equations. A plenty of methods have been proposed to investigate the exact solutions of nonlinear evolution equations such as tanh -sech method [2,5,6], extended tanh method [7,8,9], hyperbolic function method [10,11], Jacobi elliptic method [13], the first Integral method [14,15], sine-cosine method [16,17]
and Tan-Cot method. A number of authors have been motivated from these researches and applied the Tan - Cot method to solve the Joseph - Egri equation (TRLW), Sharma - Tasso - Olver equation (STO), mKdV equation with additional first order dispersion term, KdV equation with additional fifth order dispersion term equation.

## II. The Tan-Cot Function Method

Consider the nonlinear PDE in the form [12]

$$
\begin{equation*}
P\left(u, u_{t}, u_{x}, u_{x x}, u_{x x x}, \ldots . .\right)=0 \tag{2.1}
\end{equation*}
$$

This PDE can be converted to an ordinary differential equation (ODE)

$$
\begin{equation*}
Q\left(f, \frac{d f}{d \xi}, \frac{d^{2} f}{d \xi^{2}}, \frac{d^{3} f}{d \xi^{3}}, \ldots . .\right)=0 \tag{2.2}
\end{equation*}
$$

Upon using the following transformation $u(x, t)=f(\xi)$, where $\xi=x-c t+d, c$ is the speed of the travelling wave and $d$ is a constant.
Equation (2.2) is then integrated as long as all term contains derivatives where we neglect the integration constants. The solutions of Eq. (2.2) can be expressed in the form:

$$
\begin{equation*}
f(\xi)=\alpha \tan ^{\beta}(\mu \xi), \quad|\xi| \leq \frac{\pi}{2 \mu} \tag{2.3}
\end{equation*}
$$

or in the form $\quad f(\xi)=\alpha \cot ^{\beta}(\mu \xi), \quad|\xi| \leq \frac{\pi}{2 \mu}$
where ${ }_{\alpha, \mu}$ and ${ }_{\beta}$ are parameters that will be determined, $\mu$ and $c$ are the wave number and the wave speed, respectively. The derivatives of Eq. (2.3) are
$\frac{d f}{d \xi}=\alpha \beta \mu\left[\tan ^{\beta-1}(\mu \xi)+\tan ^{\beta+1}(\mu \xi)\right]$

$$
\begin{align*}
& \frac{d^{2} f}{d \xi^{2}}=\alpha \beta \mu^{2}\left[(\beta-1) \tan ^{\beta-2}(\mu \xi)+2 \beta \tan ^{\beta}(\mu \xi)+(\beta+1) \tan ^{\beta+2}(\mu \xi)\right]  \tag{2.6}\\
& \frac{d^{3} f}{d \xi^{3}}=\alpha \beta \mu^{3}\left[(\beta-2)(\beta-1) \tan ^{\beta-3}(\mu \xi)+\left(3 \beta^{2}-3 \beta+2\right) \tan ^{\beta-1}(\mu \xi)+\left(3 \beta^{2}+3 \beta+2\right) \tan ^{\beta+1}(\mu \xi)+(\beta+2)(\beta+1) \tan ^{\beta+3}(\mu \xi)\right]  \tag{2.7}\\
& \frac{d^{4} f}{d \xi^{4}}=\alpha \beta \mu^{4}\left[(\beta-3)(\beta-2)(\beta-1) \tan ^{\beta-4}(\mu \xi)+4(\beta-1)\left(\beta^{2}-2 \beta+2\right) \tan ^{\beta-2}(\mu \xi)+2 \beta\left(3 \beta^{2}+5\right) \tan ^{\beta}(\mu \xi)\right.  \tag{2.8}\\
& \left.+4(\beta+1)\left(\beta^{2}+2 \beta+2\right) \tan ^{\beta+2}(\mu \xi)+(\beta+3)(\beta+2)(\beta+1) \tan ^{\beta+4}(\mu \xi)\right]
\end{align*}
$$

and so on.
Authors found all solutions by considering only in the form $\alpha \tan ^{\beta}(\mu \xi)$. For this reason, all derivatives are calculated intentionally only for this form.

Using Eq. (2.3) and its derivatives in the reduced Eq. (2.2) we can obtain a trigonometric equation in different powers of tangent functions. The parameters are then determined by collecting the coefficients of each pair of tangent functions with same exponents, where these coefficients have to vanish. Consequently, this gives a system of algebraic equations in the unknown parameters $\alpha, \mu$ and $\beta$ that will be determined. The solutions proposed in Eq. (2.3) follow immediately.

## III. Applications

A. Joseph - Egri (TRLW) Equation

Consider the Joseph - Egri (TRLW) equation

$$
\begin{equation*}
u_{t}+u_{x}+a u u_{x}+u_{x t t}=0 \tag{3.1.1}
\end{equation*}
$$

We introduce the transformation

$$
u(x, t)=f(\xi) \text {, where } \xi=x-c t+d, c \text { is the speed of the travelling wave and } d \text { is a }
$$ constant.

By using this transformation equation (3.1.1) transform to the ODE:

$$
\begin{equation*}
(1-c) \frac{d f}{d \xi}+a f(\xi) \frac{d f}{d \xi}+c^{2} \frac{d^{3} f}{d \xi^{3}}=0 \tag{3.1.2}
\end{equation*}
$$

Integrating (3.1.2) with respect to $\xi$ once with zero constant to get

$$
\begin{equation*}
(1-c) f(\xi)+\frac{a}{2}(f(\xi))^{2}+c^{2} \frac{d^{2} f}{d \xi^{2}}=0 \tag{3.1.3}
\end{equation*}
$$

Seeking the solution in equation (2.6)

$$
\begin{align*}
& (1-c) \alpha \tan ^{\beta}(\mu \xi)+\frac{a}{2} \alpha^{2} \tan ^{2 \beta}(\mu \xi)+ \\
& c^{2} \alpha \beta \mu^{2}\left[(\beta-1) \tan \beta-2(\mu \xi)+2 \beta \tan ^{\beta}(\mu \xi)\right.  \tag{3.1.4}\\
& \left.+(\beta+1) \tan ^{\beta+2}(\mu \xi)\right]=0
\end{align*}
$$

Equating the exponents $2 \beta$ and $\beta-2$ yield

$$
2 \beta=\beta-2 \text { i.e., } \beta=-2
$$

Replacing $\beta$ by -2 into equation (3.1.4) we get

$$
\begin{align*}
& (1-c) \alpha \tan ^{-2}(\mu \xi)+\frac{a}{2} \alpha^{2} \tan ^{-4}(\mu \xi)+6 c^{2} \alpha \mu^{2} \tan ^{-4}(\mu \xi)  \tag{3.1.5}\\
& +8 c^{2} \alpha \mu^{2} \tan ^{-2}(\mu \xi)=0
\end{align*}
$$

Equation (3.1.5) is satisfied only if the following system of algebraic equations holds: $(1-c) \alpha+8 c^{2} \alpha \mu^{2}=0$
$\frac{a}{2} \alpha^{2}+6 c^{2} \alpha \mu^{2}=0$
Solving Eqs. (3.1.6) and (3.1.7), we find

$$
\begin{equation*}
\mu= \pm \frac{1}{2 c} \sqrt{\frac{c-1}{2}}, \alpha=\frac{3(1-c)}{2 a} \tag{3.1.8}
\end{equation*}
$$

Substituting Eq. (3.1.8) into Eq. (2.3), we obtain the exact solution of the TRLW equation in the form:

$$
\begin{align*}
& \quad u(x, t)=\frac{3(1-c)}{2 a} \tan ^{-2}\left[ \pm \frac{1}{2 c} \sqrt{\frac{c-1}{2}}(x-c t+d)\right] \\
& \text { i.e., } u(x, t)=\frac{3(1-c)}{2 a} \cot ^{2}\left[ \pm \frac{1}{2 c} \sqrt{\frac{c-1}{2}}(x-c t+d)\right] \tag{3.1.9}
\end{align*}
$$

Evolutional profile of $u(x, t)$ through the expression (3.1.9) is shown in the figure 1 for $c=a=d=2,-10 \leq x \leq 10$ and $-10 \leq t \leq 10$.


Figure 1: Graphical representation of the travelling wave solution of $u(x, t)$ for

$$
c=a=d=2,-10 \leq x \leq 10 \text { and }-10 \leq t \leq 10 .
$$

Figure 2 presents the line diagram of $u(x, t)$ for $c=a=d=2,-10 \leq x \leq 10$ and $t=\mathbf{O}, \mathbf{6}$.


Figure 2: Line diagram of $u(x, t)$ for $c=a=d=2$ and $-\mathbf{1 O} \leq x \leq \mathbf{1 O}$.

## B. Sharma-Tasso-Olver (STO) Equation

Consider the (1+1) dimensional Sharma - Tasso - Olver (STO) equation

$$
\begin{equation*}
u_{t}+3 u_{x}^{2}+3 u^{2} u_{x}+3 u u_{x x}+u_{x x x}=0 \tag{3.2.1}
\end{equation*}
$$

To solve the Eq. (3.2.1) by the tan cot method we introduce the transformation $u(x, t)=f(\xi)$, where $\xi=x-c t+d$, $c$ is the velocity of the travelling wave and $d$ is a constant.
By using this transformation Eq. (3.2.1) becomes

$$
\begin{equation*}
-c \frac{d f}{d \xi}+3\left(\frac{d f}{d \xi}\right)^{2}+3(f(\xi))^{2} \frac{d f}{d \xi}+3 f(\xi) \frac{d^{2} f}{d \xi^{2}}+\frac{d^{3} f}{d \xi^{3}}=0 \tag{3.2.2}
\end{equation*}
$$

Equation (3.2.2) can be re-written as

$$
-c \frac{d f}{d \xi}+3 \frac{d}{d \xi}\left\{f(\xi) \frac{d f}{d \xi}\right\}+\frac{d}{d \xi}\left\{(f(\xi))^{3}\right\}+\frac{d^{3} f}{d \xi^{3}}=0
$$

(3.2.3)

Integrating Eq. (3.2.3) with respect to $\xi$ and ignoring constant of integration, we obtain

$$
\begin{equation*}
-c f(\xi)+3 f(\xi) \frac{d f}{d \xi}+(f(\xi))^{3}+\frac{d^{2} f}{d \xi^{2}}=0 \tag{3.2.4}
\end{equation*}
$$

Seeking the solutions in the Eqs. (2.5) and (2.6)

$$
\begin{align*}
& -c \alpha \tan ^{\beta}(\mu \xi)+3 \alpha^{2} \beta \mu \tan ^{2 \beta-1}(\mu \xi)+3 \alpha^{2} \beta \mu \tan ^{2 \beta+1}(\mu \xi) \\
& +\alpha^{3} \tan ^{3 \beta}(\mu \xi)+\alpha \beta(\beta-1) \mu^{2} \tan ^{\beta-2}(\mu \xi)+  \tag{3.2.5}\\
& 2 \alpha \beta^{2} \mu^{2} \tan ^{\beta}(\mu \xi)+\alpha \beta(\beta+1) \mu^{2} \tan ^{\beta+2}(\mu \xi)=0
\end{align*}
$$

Equating the exponents $3 \beta$ and $2 \beta-1$ yield

$$
3 \beta=2 \beta-1 \text { i.e., } \beta=-1
$$

Replacing $\beta$ by -1 into Eq. (3.2.5) we get

$$
\begin{align*}
& -c \alpha \tan ^{-1}(\mu \xi)-3 \alpha^{2} \mu \tan ^{-3}(\mu \xi)-3 \alpha^{2} \mu \tan ^{-1}(\mu \xi)  \tag{3.2.6}\\
& +\alpha^{3} \tan ^{-3}(\mu \xi)+2 \alpha \mu^{2} \tan ^{-3}(\mu \xi)+2 \alpha \mu^{2} \tan ^{-1}(\mu \xi)=0
\end{align*}
$$

Equation (3.2.6) is satisfied only if the following system of algebraic equations holds:

$$
\begin{align*}
& -c \alpha-3 \alpha^{2} \mu+2 \alpha \mu^{2}=0  \tag{3.2.7}\\
& -3 \alpha^{2} \mu+\alpha^{3}+2 \alpha \mu^{2}=0 \tag{3.2.8}
\end{align*}
$$

Solving Eqs. (3.2.7) and (3.2.8) we find the following sets of solutions:

$$
\begin{equation*}
\alpha=i \sqrt{c}, \mu=i \sqrt{c} \text { or } \frac{i \sqrt{c}}{2} \tag{3.2.9}
\end{equation*}
$$

and $\alpha=-i \sqrt{c}, \mu=-i \sqrt{c}$
Substituting Eqs. (3.2.9) and (3.2.10) into Eq. (2.3), we obtain the exact solution of the STO equation in the form

$$
\begin{align*}
& u(x, t)=\sqrt{c} \tanh ^{-1}\lfloor\sqrt{c}(x-c t+d)\rfloor  \tag{3.2.11}\\
& \text { and } \quad u(x, t)=\sqrt{c} \tanh ^{-1}\left[\frac{\sqrt{c}}{2}(x-c t+d)\right] \tag{3.2.12}
\end{align*}
$$

Solution graphs via expression from Eqs. (3.2.11) and (3.2.12) are shown in the figure 3(a) and figure 3(b) respectively for $c=0.1, d=1,-10 \leq x \leq 10$ and $-10 \leq t \leq 10$.


Figure 3: Graphical representation of the travelling wave solution of $u(x, t)$ for $c=0.1, d=1,-10 \leq x \leq 10$ and $-10 \leq t \leq 10$.
Line diagrams of expression from Eqs. (3.2.11) and (3.2.12) are shown in the figure 4(a) and figure 4(b) respectively for $c=0.1, d=1,-10 \leq x \leq 10$ and $t=0,7$.


Figure 4: Line diagrams of $u(x, t)$ via expression of Eqs. (3.2.11) and (3.2.12) for $c=0.1, d=1$ and $-10 \leq x \leq 10$.
$m K d V$ equation with additional first order dispersion term
Consider the mKdV equation with additional first order dispersion term
$u_{t}-a u^{2} u_{x}+u_{x x x}+b u_{x}=0$
To solve the Eq. (3.3.1) by the tan cot method we introduce the transformation $u(x, t)=f(\xi)$, where $\xi=x-c t+d, c$ is the velocity of the travelling wave and $d$ is a constant.

By using this transformation Eq. (3.3.1) becomes

$$
\begin{equation*}
-c \frac{d f}{d \xi}-a(f(\xi))^{2} \frac{d f}{d \xi}+\frac{d^{3} f}{d \xi^{3}}+b \frac{d f}{d \xi}=0 \tag{3.3.2}
\end{equation*}
$$

Integrating Eq. (3.3.2) with respect to $\xi$ and ignoring constant of integration, we obtain

$$
\begin{equation*}
(b-c) f(\xi)+\frac{a}{3}(f(\xi))^{3}+\frac{d^{2} f}{d \xi^{2}}=0 \tag{3.3.3}
\end{equation*}
$$

Seeking the solution in Eq. (2.6)

$$
\begin{align*}
& (b-c) \alpha \tan ^{\beta}(\mu \xi)+\frac{a}{3} \alpha^{3} \tan ^{3 \beta}(\mu \xi)+\alpha \beta(\beta-1) \mu^{2} \tan ^{\beta-2}(\mu \xi)  \tag{3.3.4}\\
& +2 \alpha \beta^{2} \mu^{2} \tan ^{\beta}(\mu \xi)+\alpha \beta(\beta+1) \mu^{2} \tan ^{\beta+2}(\mu \xi)=0
\end{align*}
$$

Equating the exponents $3 \beta$ and $\beta-2$ yield

$$
3 \beta=\beta-2 \text { i.e., } \beta=-1
$$

Replacing $\beta$ by -1 into Eq. (3.3.4) we get

$$
\begin{align*}
& (b-c) \alpha \tan ^{-1}(\mu \xi)+\frac{a}{3} \alpha^{3} \tan ^{-3}(\mu \xi)+2 \alpha \mu^{2} \tan ^{-3}(\mu \xi)  \tag{3.3.5}\\
& +2 \alpha \mu^{2} \tan ^{-1}(\mu \xi)=0
\end{align*}
$$

Equation (3.3.5) is satisfied only if the following system of algebraic equations holds:

$$
\begin{align*}
& (b-c) \alpha+2 \alpha \mu^{2}=0  \tag{3.3.6}\\
& \frac{a}{3} \alpha^{3}+2 \alpha \mu^{2}=0 \tag{3.3.7}
\end{align*}
$$

Solving Eq. (3.3.6) and Eq. (3.3.7) we obtain

$$
\begin{equation*}
\mu= \pm \sqrt{\frac{(c-b)}{2}}, \alpha= \pm \sqrt{\frac{3(b-c)}{a}} \tag{3.3.8}
\end{equation*}
$$

Substituting Eq. (3.3.8) into Eq. (2.3), we obtain the exact soliton solution of the Eq. (3.3.1) equation in the form

$$
\begin{equation*}
u(x, t)= \pm i \sqrt{\frac{3(b-c)}{a}} \tanh ^{-1}\left[ \pm \sqrt{\frac{(b-c)}{2}}(x-c t+d)\right] \tag{3.3.9}
\end{equation*}
$$

Evolutional profile and line diagram of $u(x, t)$ through the expression of Eq. (3.3.9) are shown in the figure 5 (a) and figure 5(b) for $c=0.1, a=b=d=1,-10 \leq x \leq 10,-10 \leq t \leq 10$ and $c=0.1, a=b=d=1,-10 \leq x \leq 10, t=-2,4$ respectively.


Figure 5: Evolutional profile and line diagram of $u(x, t)$ through the expression of Eq. (3.3.9)
KdV equation with additional fifth order dispersion
We consider the fifth-order KdV equation of the form

$$
\begin{equation*}
u_{t}+30 u^{2} u_{x}+20 u_{x} u_{x x}+10 u u_{x x x}+u_{x x x x x}=0 \tag{3.4.1}
\end{equation*}
$$

where $u(x, t)$ is differentiable sufficiently.
Equation (3.4.1) is a special case of the standard fifth-order KdV equation

$$
\begin{equation*}
u_{t}+\alpha u^{2} u_{x}+\beta u_{x} u_{x x}+\gamma u u_{x x x}+u_{x x x x x}=0 \tag{3.4.2}
\end{equation*}
$$

This special case Eq. (3.4.1) is known as the Lax case [1], which is characterized by $\beta=2 \gamma$ and $\alpha=\frac{2}{10} \gamma^{2}$.

The Eq. (3.4.1) can be written as

$$
\begin{equation*}
u_{t}+10\left(u^{3}\right)_{x}+10\left(u u_{x x}\right)_{x}+5\left\{\left(u_{x}\right)^{2}\right\}_{x}+u_{x x x x x}=0 \tag{3.4.3}
\end{equation*}
$$

that can be converted to the ODE

$$
\begin{equation*}
-c f(\xi)+10(f(\xi))^{3}+10 f(\xi) \frac{d^{2} f}{d \xi^{2}}+5\left(\frac{d f}{d \xi}\right)^{2}+\frac{d^{4} f}{d \xi^{4}} \tag{3.4.4}
\end{equation*}
$$

upon using the transformation
$u(x, t)=f(\xi)$, where $\xi=x-c t+d$, $c$ is the velocity of the travelling wave, $d$ is a constant and integrating once.
Seeking the solutions in Eqs. (2.5), (2.6) and (2.8)

$$
\begin{align*}
& -c \alpha \tan ^{\beta}(\mu \xi)+10 \alpha^{3} \tan ^{3 \beta}(\mu \xi)+10 \alpha^{2}(\beta-1) \beta \mu^{2} \tan ^{2 \beta-2}(\mu \xi) \\
& \left.+20 \alpha^{2} \beta^{2} \mu^{2} \tan ^{2 \beta}(\mu \xi)+10 \alpha^{2} \beta(\beta+1) \mu^{2} \tan ^{2 \beta+2}(\mu \xi)\right\} \\
& +5 \alpha^{2} \beta^{2} \mu^{2} \tan ^{2 \beta-2}(\mu \xi)+10 \alpha^{2} \beta^{2} \mu^{2} \tan ^{2 \beta}(\mu \xi) \\
& +5 \alpha^{2} \beta^{2} \mu^{2} \tan ^{2 \beta+2}(\mu \xi)+\alpha \beta \mu^{4}\left[(\beta-3)(\beta-2)(\beta-1) \tan ^{\beta-4}(\mu \xi)\right.  \tag{3.4.5}\\
& +4(\beta-1)\left(\beta^{2}-2 \beta+2\right) \tan ^{\beta-2}(\mu \xi)+2 \beta\left(3 \beta^{2}+5\right) \tan ^{\beta}(\mu \xi)+ \\
& 4(\beta+1)\left(\beta^{2}+2 \beta+2\right) \tan ^{\beta+2}(\mu \xi) \\
& \left.+(\beta+3)(\beta+2)(\beta+1) \tan ^{\beta+4}(\mu \xi)\right]=0
\end{align*}
$$

Equating the exponents $3 \beta$ and $\beta-4$ yield

$$
3 \beta=\beta-4 \quad \text { i.e., } \beta=-2
$$

Replacing $\beta$ by -2 into Eq. (3.4.5) we get

$$
\begin{align*}
& -c \alpha \tan ^{-2}(\mu \xi)+40 \alpha^{2} \mu^{2} \tan ^{-2}(\mu \xi)+136 \alpha \mu^{4} \tan ^{-2}(\mu \xi) \\
& +120 \alpha^{2} \mu^{2} \tan ^{-4}(\mu \xi)+240 \alpha \mu^{4} \tan ^{-4}(\mu \xi)  \tag{3.4.6}\\
& +10 \alpha^{3} \tan ^{-6}(\mu \xi)+80 \alpha^{2} \mu^{2} \tan ^{-6}(\mu \xi) \\
& +120 \alpha \mu^{4} \tan ^{-6}(\mu \xi)=0
\end{align*}
$$

Setting the coefficients of each $\tan ^{i}\left(\mu_{\xi}\right)$ to zero gives the system

$$
\begin{align*}
-c \alpha+40 \alpha^{2} \mu^{2}+136 \alpha \mu^{4} & =0 \\
120 \alpha^{2} \mu^{2}+240 \alpha \mu^{4} & =0  \tag{3.4.7}\\
10 \alpha^{3}+80 \alpha^{2} \mu^{2}+120 \alpha \mu^{4} & =0
\end{align*}
$$

Solving the system Eq. (3.4.7) leads the following sets of solutions:

$$
\begin{equation*}
\alpha=\sqrt{\frac{c}{14}}, \mu= \pm i \sqrt[4]{\frac{c}{56}} \tag{3.4.8}
\end{equation*}
$$

and

$$
\begin{equation*}
\alpha=-\sqrt{\frac{c}{14}}, \mu= \pm \sqrt[4]{\frac{c}{56}} \tag{3.4.9}
\end{equation*}
$$

Substituting Eq. (3.4.7) into Eq. (2.3), we obtain the exact solution of the Eq. (3.4.1) equation in the form

$$
\begin{equation*}
u(x, t)=-\sqrt{\frac{c}{14}} \tanh ^{-2}\left[\sqrt[4]{\frac{c}{56}}(x-c t+d)\right] \tag{3.4.10}
\end{equation*}
$$

Solution graph via expression of Eq. (3.4.10) is shown in the figure 5.1 for $c=1,-5 \leq x \leq 5$ and $-10 \leq t \leq 10$.
Again, Substituting Eq. (3.4.9) into Eq. (2.3), we obtain the exact solution of the Eq. (3.4.1) in the form

$$
\begin{equation*}
u(x, t)=-\sqrt{\frac{c}{14}} \tan ^{-2}\left[ \pm \sqrt[4]{\frac{c}{56}}(x-c t+d)\right] \tag{3.4.11}
\end{equation*}
$$

Evaluation profiles via expression of Eqs. (3.4.10) and (3.4.11) are shown in the figure 6(a) and figure 6(b) respectively for $c=d=1,-5 \leq x \leq 5$ and $-10 \leq t \leq 10$.


Figure 6: Graphical representation of the travelling wave solution of $u(x, t)$ for

$$
c=d=1,-5 \leq x \leq 5 \text { and }-\mathbf{1 0} \leq t \leq 10 .
$$

Line diagrams of expression of Eqs. (3.4.10) and (3.4.11) are shown in the figure 7(a) and figure 7 (b) respectively for $c=d=1,-5 \leq x \leq 5$ and $t=-2,4$.


Figure 7: Line diagram of $\boldsymbol{u}(\boldsymbol{x}, \boldsymbol{t})$ via expression of Eqs. (3.4.10) and (3.4.11) for $c=d=1$ and $-5 \leq x \leq 5$.

## IV. Conclusions

In our present attempt, the Tan-Cot Function method has been successfully implemented to find the exact solutions of different nonlinear PDEs including solitons, solitary waves and travelling waves. The investigation presented here has been an advanced nonlinear wave mode analysis and this investigation predicts unique findings on nonlinear wave solutions.
As a consequence, it is stressed that this direct and effective algebraic method can be extended to solve the problems of nonlinear structures which arising in the theory of solitons and other nonlinear science areas.

## References

1) Wazwaz, A.M. "Solitons and periodic solutions for the fifth-order KdV equation," App. Math. Lett., vol. 19, pp. 1162-1167, November 2006.
2) Malfliet, W. "Solitary wave solutions of nonlinear wave equations," Am. J. Phys., vol. 60, pp. 650-654, February 1992.
3) Russel, J.S. Report on Waves, Fourteenth Meeting of the British Association for the Advancement of Science, New York, 1844, pp. 311-390.
4) Zabusky N.J. and Kruskal, M.D. 'Interaction of solitons in a collision less plasma and the recurrence of initial states," Phys. Rev. Lett., vol. 15, pp. 240 243, August 1965.
5) Khater, A.H. Malfliet, W. Callebaut, D.K. and Kamel, E.S. "The tanh method, a simple transformation and exact analytical solutions for nonlinear reaction diffusion equations," Chaos Solitons Fractals, vol. 14, pp. 513-522, August 2002.
6) Wazwaz, A.M. "Two reliable methods for solving variants of the KdV equation with compact and noncompact structures," Chaos Solitons Fractals, vol. 28, pp. 454-462, April 2006.
7) El-Wakil S.A. and Abdou, M.A. "New exact travelling wave solutions using modified extended tanh-function method." Chaos Solitons Fractals, vol. 31, pp. 840-852, February 2007.
8) Fan, E. "Extended tanh-function method and its applications to nonlinear equations," Phys. Lett. A, vol. 277, pp. 212-218, December 2000.
9) Wazwaz, A. M. "The tanh-function method: Solitons and periodic solutions for the Dodd-Bullough-Mikhailov and the Tzitzeica-Dodd-Bullough equations." Chaos Solitons and Fractals, vol. 25, pp. 55-63, July 2005.
10) Xia, T.C. Li, B. and Zhang, H.Q. 'New explicit and exact solutions for the Nizhnik Novikov-Vesselov equation," Appl. Math. E-Notes, vol. 1, pp. 139 142, 2001.
11) Parkes, E.J. and Duffy, B.R.'An automated tanh-function method for finding solitary wave solutions to nonlinear evolution equations," Comput. Phys. Commun., vol. 98, pp. 288-300, November 1996.
12) Jawad, Anwar J. M. 'New exact solutions of nonlinear partial differential equations using tan-cot function method," Studies in Mathematical Sciences, vol. 5, pp. 13-25, November 2002.
13) Jawad, Anwar J. M. 'New exact solutions of nonlinear partial differential equations using tan-cot function method," Studies in Mathematical Sciences, vol. 5, pp. 13-25, November 2002.
14) Feng, Z.S. 'The first integer method to study the Burgers-Korteweg-de Vries equation." J. Phys. A. Math. Gen., vol. 35, pp. 343-349, September 2002.
15) Ding T.R. and Li., C.Z. Ordinary differential equations. Peking: Peking University Press, 1996.
16) Mitchell A.R. and Griffiths, D.F. The finite difference method in partial differential equations. John Wiley \& Sons, 1980.
17) Yusufoglu E. and Bekir, A. Solitons and periodic solutions of coupled nonlinear evolution equations by using Sine-Cosine method, Inter. J. Comput. Math., vol. 83, pp. 915-924, May 2006.
18) Shaikh,A.A.,Mashud, A.H.M., Uddin, M.S. and Khan, M.A-A. (2017) 'Noninstantaneous deterioration inventory model with price and stock dependent demand for fully backlogged shortages under inflation', Int. J. Business Forecasting and Marketing Intelligence, Vol. 3, No. 2, pp.152-164.
19) Shaikh,A.A., Mashud, A.H.M., Uddin, M.S. and Khan, M.A-A. (2018) 'A non-instantaneous inventory model having different deterioration rates with stock and price dependent demand under partially backlogged shortages', Uncertain Supply Chain Management,Vol. 6.
20) Shaikh,A.A.,Mashud, A.H.M., Uddin, M.S. and Khan, M.A-A. (2017) 'Noninstantaneous deterioration inventory model with price and stock dependent demand for fully backlogged shortages under inflation', Int. J. Business Forecasting and Marketing Intelligence, Vol. 3, No. 2, pp.152-164.
J.Mech.Cont.\& Math. Sci., Vol.-11, No.-2, January (2017) Pages 37-48
